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Time : 3 hours

Total Marks : 100

aor : 100

3@t / Instruction :
1) Br A GAR T Pt JaGS / Proper procedure and explaination is necessary.

2) Yoty eerear W gun (&, Y91 SIET) @9 3a1. / Do not erase construction marks.

1) | a) | vaT FredF dremETd didt @ T 13 2 7 A1 IO 3R Y aEme 2275 o9t
MR, TR At 7 T T, [3]
The length and breadth of a rectangle are in the ratio 13 : 7, if area of a rectangle
is 2275 cm’. Find it’s length and breadth. 6 S 3 3.5
b) | 0.407 a1 3madi Zeria BTl TR WEAY AEY SqUIfeTa BN BT [3]
Rewrite the recurring decimal fraction as valgar fraction : 0.407 A-g%za
c) | ™ AERER 4,56,972.5 T W fAweam 29% A@T gAY, TR w1 HRYT WY
fae faeht 2 (4]
Ifacaris sold at ¥ 4,56,972.5 there is a profit of 29%. What is the cost price of
the car ? 3)541/ 430
2) |a) | 7740 ¥ I3 g7 arst. (2]
Resolve 7740 into prime factors S ¥ LY 2 ¥ V¢ 3Ix 4 %
b) | reft FETTT SR ary i wRAT oy FraT A, BT 54, 63 7 81 I YRAD
T I TR WS At T § . (4]
Find the smallest number of five digits which leaves 8 as remainder when divided by
the numbers 54,63 and 81. |© 2 | &
g3 5 11
| =+= [+4-= = i
c) mm.(g 3) 6l‘!(of)3+2
4 2 5 11
imolify :[ =+= [+4—= LB
Stmplll‘y.(9 3) 6%(003+2 =
3) |a) | 2.5 45 Fiefevsh s qoieR @, [2]
Find the ratio of 2.5 liters to 45 deciliters. S * 9
b) | adfare Sitar AB & afadargT W, PEr A anfor B arcfiftes adwadta wrorard
fdg 3m2. 9% m £ PAB = 37° &R m £ PBA #Ta. E
Chord AB of a circle passes through it’s centre. P is a point on the circle other than
l Aand B. Itm —PAB=37"thentindm 2 PBA. %
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c) | DABCD ®eR, | (AB) =121, [ (AD) =9 &H, /(BC)=24 T, [(DB)Y=[(DC)
i m 2 BAD =90° &k 0 ABCD & &% FTal. (5]
InOABCD, /{AB)=12cm, [ (AD)=9cm, / (BC)=24 ¢m, [ (DB) =/ (DC) and
m £ BAD =90°. Find area of OABCD | 14

4) |a) | WSS AT : (2a-9)* - (2a+9)
ST P 1 ; =6 A~ 1459 .
Simplify : (2a-9)' - (2a+9)
b) | IR 9! =243 T x oY fwa Fra.
[£9*-¢ =243 then find the value of x.(1 )

c) | ¥ O ABCD ot @tat &Y, vf AC anfdr 3o BD afear adt arged 5.3 Wt
et 6.7 Arft arreter. (4]
Construct rhombus ABCD such that lengths of diagonal AC and BD are 5.3 cm and
6.7 cm respectively.

5) | a) | aveft 40 R I v Rt Groay Sragr 3@ arar svear areht 60 fadt
AE T O A B AR TR A 3R et 2 2]
When the average speed is 60 km/hr the time required to cover a certain distance is
ong hour less than the time requ:rcd to cover that distance when the average speed
is 40 kmv/hr. Find the distance(’] 35
b) | Tat evaddlier qpor Remafddt At el arft, wwdemia Runffaes,
v yenie Renedt e, 15% Reandlf wses 3 sw@a 81 Raedf W@ e
FaTa, a% T arebe gt st fenedt anda. (4]
Out of the total number of students in a school half come by walking, 1/5th come
by bus, 1/8th come by rickshaw, 15% come on bicycle and the remaining 81 studc.nts
come by railway to school. What is the total number of students in the school 7 * LﬂQP

¢) | weeq @ - (7a - 6b- Sc)? + (Ta+ 6b - Sc)? (4]

Simplify : (7a—6b~5¢)* +(7a+6b~5c) JFa >~ 72b 4+ SOc* 3 )ac ac

=-3
6) | a) | @relte witesor wrean 3Y o 2]
2x
. . . - _3 ar
Solve the following equation : il %—
4\
b) p X T snpdie fRerear mifddftasT x &t
v @1, B
23 3 Find the value of x from the information

given in the figure

o) : s J17
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c)

TaT [ 100 Htew afavradie gt g iR a anfor &t 12 fRedt /arw
e vt R urga e, | MfEFeR Fsam s gifga anfor am
16 &t / ara a1 3 ST YIeanT g dort o)l fadt siaRay wr g
qEHSH ?

A hare sees adog 100 m away from him and scuds off in the opposite direction
ataspeed of 12 km / hr. Aminute later the dog preceives him and gives chase at

aspeed of 16 km/ hr. How soon will the dog over take the hare. [ | &vain 339

7)

a)

b)

c)

A9 e A6 286 9 Wt 7 I 13 Wit o, o e wHieR AR
ardret ¥ et 2 A vas Aoy 20 A s ga=aT Ao aidt et 2
Area of trapezium is 286 sq cm and height is 13 cm. find the sum of lengths of its
parallel sides ? If one side is of 20 cm then find the length of another side. 2 & & 'yw

T WIAER 500 § =41 FHorfay SeHeEr 12.50 © 27t 9a). @) aY. 39139, Sorr
M T Hal.

A money lender charges interest of ¥ 12.50 permonth on a loan of ¥ 500. What is
the rate of interest percent per annum ? 30

U TR Tl AATSET 4% avH 18 aR=IRdt 25002 Sw0 gat 7 e
o e @ qadiRdt fie e Forfss 391, a Fueaar [T 56.25%
T TS ATEBA. TN A AT AT FHIoTeT S & Jar ?

A man borrowed an amount of ¥ 2500 from a friend for a period of 18 months at
4% p.a. as rate of interest. He lend immediately the whole amount which he had
borrowed it to another friend for the same period. At the end he found that he had
gained Z 56.25 in this transaction, what was the rate of interest charged by him, = -5

8)

a)

b)

c)

AT ITANT 6 fAR B (6+%)

' l .
Expand with the help of formula: (6 + -) 36 +..L2." +1
n W Y Y

21 Jeatdt vt fhwa 350 T e, @i ey geatdt wwd e 320 T am.
et wd qeat wa fmdte sga. ) |t e g e o
The average price of ten chairs 1s ¥ 350, The average price of six out of the ten

chairs is ¥ 320. Ifall the remaining chairs are of the same price. What is the price
of eachofthem. K 2. 2% 5

331776 ¥ vy F1al.

Find the fourth root of 331776 244

9)

a)

are CEwaerd fig st Yo Pifeaa g 2

How many lines are determined by five coplaner points ? 0, 7/ 51 1

B
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L b) | THER B : (7m* ~21m* +63 m) (2m’ - 6m + 18)
Multiply : (7m*=21m? + 63 m) (2m*~6m + 18) (+m>’-'54 ‘M‘, + 377‘003
- 15w
c) | 9 et sridtear Y@ AB X 2 : 3 71 ORI AT B -+ U34 | [4]
Divide the line segment of 9 cm long in the ratio 3 : 2.
10) | a) | Sx=eq AT :(14mp—8n )+ (12 mp + 6n) + (mp - 11n)
Simplify: (14mp—8n )+ (12 mp+6n) + (mp— 11n) /2_7“\; -—D.gﬁ
b) | 166375 ¥ T Wral. (3]
Find the cube root of 166375. 5 &
81" f(25\*" (s5Y° @
c) | WeeT Al : []g] B (3) *(5) (5]
st [(25Y™ (s5Y)?
Simplify:| {15) *19) ~\3
{
A U S =
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